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- According to Fig. 1, please find the moment of inertia of the shaded area ahont

X-axis. (25%)

- According to Fig. 2. where a rigid-bar BC of length L and wetght W is held by 2

cables. Please find (1) the tension force for each cable and {2y the angle @ . (25%)

- Please construct the shear force and bending moment diagram of the beam shown

in Fig. 3 and please identify the location and magnitude of the maximum bending
moments. (23%)

- A prismatic bar is subjected to an axial force that produces a compressive stress of

56 Mpa on fr"';:)iane at an angle & = 30°. Please determine the stresses acting on all
the faces of a stress element oriented at 6 = 50°. (25%)
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D’ Alember’s paradox
Inviscid fluid

Velocity polential
Newtonian fluid

Reynelds numhber

Von Karindn’s vortex street
Itrotational flow

Froude number

Turbulence

Fluid particte
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. Characterize nonpoint-source poliution and give two examples, one in urban areas and one
in agricultural areas. Why is it more difficult to control this_ type of pollution than
point-source poliution? (10%)

S ¥k BOD,COD 82 TOC = 8 & £ &2 & 1 & (10%)

. BS B5 ¥ (aliphatic) % 37 % sE(aromatic)db & K A B 45 T4 7 X & % —
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